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�F���¼ê§8ÜA ⊆ domF§XJéu?¿�x ∈ A§þ

kF (x) ∈ A§K¡A3¼êFe´µ4�"

~~~
�F : N→ N§�F (n) = n + 1§

�A = N§KA3Fe´µ4�¶

�B = {1, 2, · · · , 10}§KB ⊆ N§B3¼êFeØµ4"
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PeanoXÚ´÷v±eún�kSn�|〈M,F , e〉§Ù¥M���8
Ü§F�M�M �¼ê§e�Ä��§5^ún�µ

1 e ∈ M¶

2 M3Fe´µ4�¶

3 e /∈ ranF¶

4 F´ü��¶

5 XJM�f8A÷ve ∈ A�A3Fe´µ4�§KA = M"
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�A���8Ü§¡A ∪ {A}�A��U§P�A+§¿¡¦8Ü��U

��U$�"

d½Â´�§A ⊆ A+ ∧ A ∈ A+"

~~~

¦e�8Ü��U��U��Uµ

1 ∅¶
2 A = {a}¶
3 B = {∅, a}"



8ÜØ�ãØ1où(II) g,ê

g,ê�½Â

8B8

½½½ÂÂÂ

�A���8Ü§eA÷vµ

1 ∅ ∈ A§

2 e∀a ∈ A§Ka+ ∈ A§

K¡A´8B8"

~~~

{∅, ∅+, ∅++, · · · }´8B8¶{∅, ∅+, ∅++, · · · , a, a+, a++, · · · }´8B8§

�a 6= ∅�§{a, a+, a++, · · · }Ø´8B8"

d½Â�±wÑ§∅, ∅+, ∅++, · · ·´¤k8B8���§u´�ò
§�½Â¤g,ê"
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g,ê´áuz�8B8�8Ü"

d½Â9{∅, ∅+, ∅++, · · · }´8B8��§∅, ∅+, ∅++, · · ·Ñ´g,ê§
©OP�0, 1, 2, · · ·¿�?¿�g,ên��Un+ = n ∪ {n}§�n�¡
;��g,êµ

0 = ∅
1 = 0+ = {0}
2 = 1+ = {0, 1}
· · ·

n = {0, 1, 2, · · · , n − 1}
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�D = {v | v´8B8}§¡
⋂
D��Ng,ê8Ü§P�N"

d½Â´��Ng,ê8ÜN´¤k8B8�f8§¿�§´8B8"

½½½nnn

N´8B8"

½½½nnn

�N�g,ê8Ü§σ : N→ N§�σ(n) = n+£¡σ��U¼ê¤§

K〈N, σ, ∅〉´PeanoXÚ"
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